PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2010

College of Sciences

Section 1 Quiz 3 21 October 2010

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

A particle of mass m = /2 kg is aceelerated at 1 m/s? in the direction shown hy @, over a frictionless
horizontal surface. The acceleration is cansed hy three horizontal forces, only two of which are shown:
= o =t 3 - e - . - . i - s 1
Fy of magnitude 2¢3 N and F» of magnitude \fﬁ N. What is the third force Iy in unit-vector notation?
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Two particles of mass m = 2 kg and M = 3 kg are hung vertically over a frictionless pulley of
negligible mass as shown in the figure. Determine the magnitude of acceleration of the two particles
and the tension in the massless cord. (Take g = 10 m/s?.)
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Two particles of mass m = 2 kg and M = 3 kg are atiached by a massless cord that passes over a
frictionless pulley of negligible mass as shown in the figure. The particle of mass Af lies on a frictionless
incline of angle # = 30 degrees. Determine the magnitude of the acceleration of the two particles and
the tension in the cord. {Take g = 10 m/s%.)
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A Dblock of mass M is at rest on an adjustable inclined plane of angle # and static coefficient of
friction p,. Find the range of possible values of ¢ for which the block remains at rest.
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A block of mass my moves at constant velocity on an inclined plane of angle # and kinetie coefficient
of friction gy, Find the mo in terms of my, 0, and py.
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